Reasoning VISUAL
REASONING Questions,
Answers & Explanation

EXERCISE

DIRECTIONS (Qs. 1-3): Choose the figure which is
different from the others.
1.

o

U P E N

W i)

(a) (b) (c)

4. Group the following figures into three classes on
the basic of identical properties.

€
X

eSS
. —B 9
@1,3,9,25,8;4,6,7
(b)4,8,9;1,2,5;3,6,7

(€)2,591,38,267
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@) 1,8,946723,5

5. How many triangles are there in the following
figure?

(@) 29 (b) 27

(c) 23 (d) 30

6. How many triangles are there in the given
figure?

c e D

(@) 16 (b) 14

(c)8 (d) 12

7. How many triangles are there in the given
figure?

(@) 29 (b) 38

(c) 40 (d) 35

8. How many squares are there in the given figure?

(@) 12 (b) 13

(c) 10 (d) 11

9. How many triangles are there in the given figure
ABCDEF?
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Py B
F
D
I~ e
(@) 24 (b) 26
(c) 28 (d) 30
10. How many Parallelograms are there in the given (a) 16 (b) 28
figure? (c) 32 (d) 38
14,
(@) 14 (b) 15
(c) 16 (d) 18 How many triangles are there?
11. How many cubes are there in the given figure? (@) 20 (b) 21
- ; (c) 26 (d) 28
15. How many Rectangles are there in the given
figure?
(@) 6 (b) 10
(c) 12 (d)8
12. What is the number of squares in figure?
(@) 13 (b) 14
(c) 15 (d) 17
16. How many Semicircles are there in the given
figure?
(@) 12 (b) 13
(c) 15 (d) 17
13. What is the number of triangles in figure?
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(a) 32 (b) 36
(c) 40 (d) 56
20. What is the number of triangles in figure?
a _ . rd 2 7 :
. _ - 13
- : . g
(2) 16 (b) 14 9W T
(c) 12 (d) 10 14 15 16
17.  Count the number of squares in the given figure. (a) 32 (b) 39
(c) 46 (d) 60
21. How many triangles are there m the given
figure?
(@) 22
(c)18 (a) 10 T (b) 12 )
c) 14 d) 11
18. How many circles are there in the adjoining 22) @)
figure. '
: _ (a) 48 (b) 60
(a) 11 (b) 12 (c) 56 (d) 52
(c) 13 (d) 14 23. Find out the number of triangles in the given
figure.
19. What is the number of triangles in figure?
N f () 13 (b) 15
(c) 16 (d) 17
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ANSWER KEY

1 (a) 5 | (® | 9 | @ |13 | () | 17 | © | 21 | ()
2 ® | 6 | (@ | 10 | (© | 14 | (@ | 18 | (©) | 22 | (o)
3 ©) 7 | © | 11 | ® | 15 | @ | 19 | @ | 22 | @
4 @ | 8 | (¢ | 12 | (d | 16 | © | 20 | (d)

HINTS & EXPLANATIONS
T AT OtTeT TTouTeS CaT De Totatey o cach
other. (In each figure except fig. (a) the middle
element is obtained by rotating the outer element
through 90° CW and the inner element is
obtained by rotating the middle element through

90°CW). The triangles are:

2. (b) Each one of the figure except fig. (b), AABC: AADE: AAFH: AAIL:
contains- one complete square, one cup-shaped ADFG: ADIK: ADBO; AGDE:
element having side, one ‘L’-shaped element AEGH: AEJL: AEMC: AF1J:
having two sides and one straight line. AFBN: AJFG: AGJK: AKGH:

3. (c) In all other figures, the square has two line AHKL: AHNC: ANFH: AGMO:
segments insides and one inside and one line AIBM: AMIJ: AIMN: ANJK:
segment outside. AKNO, AOKL: ALOC:

4, (d) 1, 8, 9 are figure bisected by a straight line. 6. @)

4, 6, 7 are figures having an extended arm.
2, 3, 5 are figures intersected by a line.
Thus the given figure containing nine figures
may be divided into three pairs: (1, 8, 9), (4, 6,
7) and (2, 3, 5). Hence the answer is (d).

5. (b)

€/ G D
The triangles are;

AAIH; AAIE; AEIB; ABFI;

AIHC; AIGC; AIGD; ADFI;
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AlAB; AIBD; AICD; AIAC; A B
ABAC; AACD; ABDC; ABDA,;
P
H
7. (© M
A B C L Q
E J 17 V W
D C
bl 2 D c R
R s
: K S J
O N M F E
T :
L —H F G
' Squares are:
K ) ! . ABCP, DEFG, HIJK, LMNO,
The simplest triangles are: HPDT, TDSK, PIWD, DWJS,
APNO; APNM; AMPQ; LQDU, UDRO, QMVD, DVNR.
AMQR; AAQP; AAQR; 9. (c)

ABRA; ABRC; ASRC;

ASCD; ASGR; ASGD;

ADFG; ADFE; ATLM,;

ATJK; ATLK; ATIH; F
The triangles composed of two components are: i

APON; APMA; AAPR,;

ARAM:; ARAC; ARGC;

ADGC; ADGE; AMPR; The triangles are:
AGRD; ADGE; ATMK; AFAE; AFAI; AFIE; ACBD;
ATKI; ATIG ACBJ; ACJD; AAlJ; ABJI;
The triangles Composed of four components are: ABJA; AAIB; AIED; AJDE;
AAMO; AAMC; ACAG; AJDI; AIEJ; AGAB; AGAI;
ACGE; AMKI; AGIK; AGJI; AGJB; AHJI; AHDE;
Other triangles are: ASPI; ADQK AHEI; AHID; AAJF; AEFJ;
Total number of triangles 18 + 14 + 6 + 2=40 ABCI; ACDI; AIBD; AJEA;
8. (@ 10. (c) We can label the figure as shown.
5
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F

I J K L
The simplest parallelogram are ABFE, BCGF, CDHG

EFJI, FGKJ and GHLK. These are 6 in number.
The parallelograms composed of two components each,

are ACGE, BDHF, EGKI, FHLJ, ABJI, BCKJ and ’ DI

CDLK. Thus, there are 7 such parallelograms. The A FDE, AACD, AABD,

parallelogram composed of four components each are AFBD, AABC, ABCD,

ACKI and BDLJ i.e. 2 in number. There is only one ABKD, ABLD, ABID,

parallelogram composed of six components, namely, AJCD, AJKD, ALDJ, A LCD,

ADLI. Thus, there are 6 + 7 + 2 + 1 = 16 parallelograms ALKD, AHDC, AKDC, AEDC,

in the figure. AHKC, AEKC, AAEC, AEHC,

11. (b) There are 10 cubes. AAEH, AAGH, AAIH, AAGI,

12. (d) We have three squares with vertical and AAFB, AAGF, AFBG.

horizontal sides. Each such square has 1> + 2> = 5 15.  (a) The rectangles are—

squares in it. ABKJ, BCDK, JLPI, LMNP,

Thus there are 15 such squares. MDEN, I0GH, OEFG, ACDJ,

In addition, we have two obliquely placed squares. JMNI, LDEP, JDEI, IERH, ACFH

Hence total no. of squares = 17 . ; g

13. (d) Each small square is bisected by its . ; '
diagonals to give 4 triangles of half the size of l : N st B
the square and 4 triangles of 1/4th the size of the , S ' : '
square. e W K[ M o

Thus there are 8 x 4 = 32 triangles in the four squares. A — i c

Then there are six triangles as shown in the adjoining ’

figure. Total no. of triangles=32 + 6 = 38 ] ]

14. (d) 16. (©) _A_\ccordlng to the figure there are 12

semicircles.
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17. (c) The figure may be labelled as shown.

4 - A
The squares composed of two components each are
BIJM1, CK.MJ, DLMK and AIML i.e. 4 in number.
The squares composed of three components each are
EBMA, BFCM, MCGD and AMDH i.e. 4 in number.
The squares composed of four components each are
VWBA, XYCB, ZAIDC and BICIAD i .e. 4 in number.
The squares composed of seven components each are
NOJL, POKI, RSLJ and TUIK i.e. 4 in number. There is
only one square i.e. ABCD composed of eight
components.
There is only one square i.e. EFGH composed of twelve
components.
Total number of squares in the figure
=4+4+4+4+1+1=18.
18. (c) The figure may be labelled as shown.
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There are 13 circles in the given figure. This is clear

from the adjoining figure in which the centres of all the

circles in the given figure have been numbered from 1 to

13.

19. (d) With vertex no. 1 we have four triangles on
one side of the diagonal and four triangles on the

other side.
1 2

A

s/ Z

3

4 S Lacia in all

Thus front four vertices. We have in all 4 x 8 = 32
triangles.

Next consider square (5-6 -7 - 8).

There are four triangles from each vertex.

Thus we have another 4x4=16 triangles.

Lastly, we have oblique triangles with vertex 9 such as
(9—6-7), (9 — 2 — 3) and so on.

There are 8 such triangles.

Hence, total no. of triangles = 32+ 16 + 8 =56
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3

20. (d) Within the triangle with vertices 1, 2, 6,
there are 4 + 3 + 2 + 1 = 10 triangles. In the
triangle with vertices 1, 2, 14 there are 6
triangles.

In the triangle with vertices 1, 14, 15 there are 8

triangles.

. 38X
| 7 13
9 — 12

16.

14 15
This pattern is repeated for triangle 1, 6, 16 and for

triangle 1, 15, 16.

In the triangle with vertices 1, 6, 14 there are 3 triangle
and the pattern is repeated for the triangle with vertices
1,2, 16.

In the parallelogram, there are 4 triangles each half the
size, 4 triangles of quarter size and 6 triangles each made
up of two small triangles.

Finally, there two triangles with vertices 1, 10, 12 and 1,
14, 16 respectively

Hence total no. of triangles.
=10+2(6+8)+2x 3+ (4+4+6)+2=60
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21. (©

There 14 triangles in the given figure. These are AHO,
ACB, BHO, BAD, ABE, ABD, BAF, ABG, AOF, AFD,
BOG, BGC, ADO and BOC.
22. (©

A E . D F B

N

C
AABC, AADC, ADBC, AAEG, ABFH
AEIG, AEID, AIGJ, AIDJ
ADKIJ, ADFK, AKJH, AKFH AEDG ADJG AEGIJ, ADJG
ADFJ, AFHI], ADHJ, ADFH AADG ADGH, ADBH,
AJEF AGJC, AHIC, AGHC = 28 Triangles 28 x 2 = 56
Triangles.

23. (©)
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A _ AABC, ABDE, ABCE, ACEF, AADF,
ADGH, ADEH, AMHI, AEMN, ANKJ,
AFKE, AEHK, AAGL, AFKL, ACHL, ABGK

o B —C Number of Triangles = 16
' E
D
. M ’ N
c H |1 I, K 5
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